

A SUM RULE FOR DERANGEMENTS

Jean-Christophe Pain

CEA, DAM, DIF, Arpajon, France and

Université Paris-Saclay, CEA, Laboratoire Matière en Conditions Extrêmes, Bruyères-le-Châtel, France jean-christophe.pain@cea.fr

Received: 12/20/24, Accepted: 8/24/25, Published: 9/17/25

Abstract

We propose a sum rule for derangements. Three different proofs are provided. The first one involves integral representations and the second one relies on the Hermite identity for the integer part of the product of an integer by a real number. The third one, which, unlike the previous ones, is not based on induction, proceeds directly from a recurrence relation for the number of derangements.

1. Introduction

A derangement of $\mathscr{E}_n = \{1, 2, 3, \dots, n\}$ is a permutation of \mathscr{E}_n that has no fixed points. The number of derangements (sequence A000166 in OEIS [14]) is given by

$$D(n) = n! \sum_{i=0}^{n} \frac{(-1)^{i}}{i!}.$$

One also has, for $n \geq 1$:

$$D(n) = \left| \left| \frac{n!}{e} \right| \right| = \left| \frac{n!}{e} + \frac{1}{2} \right|,$$

where $\lfloor x \rfloor$ represents the integer part of x and ||x|| represents the nearest integer to x, as well as

$$D(n) = \left\lfloor \frac{n!+1}{e} \right\rfloor. \tag{1}$$

Derangements have many interesting properties (see, for instance, [1, 6, 7, 8]). Several identities involving derangements are known, such as, for an integer $p \ge 1$ (see, for instance, [16])

$$\sum_{n=0}^{p} \binom{p}{n} D(n) = p!,$$

DOI: 10.5281/zenodo.17144382

INTEGERS: 26 (2025)

2

and, if p and l are integers $(p \ge 1 \text{ and } l < p)$

$$\sum_{n=0}^{p} \binom{p-l}{n-l} D(p-n) = (p-l)!.$$

In the following, we provide an expression for the partial sum $\sum_{n=0}^{p} n D(n)$.

Theorem 1. Given an integer $p \ge 0$, we have

$$\sum_{n=0}^{p} n D(n) = \left\lfloor \frac{(p+1)!}{e} \right\rfloor.$$

Three proofs of Theorem 1 will be provided. The first one, given in Section 2, relies on integral representations; the second one, in Section 3, uses the Hermite identity, and the third one, detailed in Section 4, is a direct (non-inductive) proof involving a recurrence relation.

2. First Proof Using Integral Representations

The proof of Theorem 1 given in this section is based on induction and involves integral representations.

Proof of Theorem 1. Let us define

$$S_p = \sum_{n=0}^p n D(n). \tag{2}$$

We will prove the result

$$S_p = \left| \frac{(p+1)!}{e} \right|$$

by induction. We obviously have

$$S_0 = 0$$
 and $\left\lfloor \frac{1!}{e} \right\rfloor = 0$

as well as

$$S_1 = D(1) = 0$$
 and $\left\lfloor \frac{2!}{e} \right\rfloor = 0$,

and, since D(2) = 1,

$$S_2 = D(1) + 2D(2) = 2$$
 and $\left| \frac{3!}{e} \right| = 2$.

Identity (2) is thus valid for the first three values of p. Assuming it is true for p, one has to show, that for p + 1,

$$S_{p+1} = \sum_{n=0}^{p+1} n D(n) = \left\lfloor \frac{(p+2)!}{e} \right\rfloor,$$

which is equivalent to

$$S_{p+1} = S_p + (p+1) \left| \frac{(p+1)! + 1}{e} \right|.$$

In other words, using the expression for the number of derangements in Equation (1), one needs to prove

$$\left\lfloor \frac{(p+2)!}{e} \right\rfloor = \left\lfloor \frac{(p+1)!}{e} \right\rfloor + (p+1) \left\lfloor \frac{(p+1)! + 1}{e} \right\rfloor. \tag{3}$$

Hassani [7, Corollary 3.2] found that

$$e\left\lfloor \frac{n!+1}{e} \right\rfloor = \int_{-1}^{\infty} e^{-t} t^n dt, \tag{4}$$

as well as

$$\int_{-1}^{0} e^{-t} t^{n} dt = \begin{cases} -e \left\{ \frac{n!}{e} \right\} & \text{if } n \text{ odd,} \\ e - e \left\{ \frac{n!}{e} \right\} & \text{if } n \text{ even,} \end{cases}$$

which can be recast into

$$\int_{-1}^{0} e^{-t} t^{n} dt = e \left(\frac{1 + (-1)^{n}}{2} - \left\{ \frac{n!}{e} \right\} \right), \tag{5}$$

where $\{x\}$ denotes the fractional part of x. Then, using $\{x\} = x - \lfloor x \rfloor$ and Equation (5), one obtains

$$\left\lfloor \frac{(p+1)!}{e} \right\rfloor = \frac{1}{e} \int_{-1}^{0} e^{-t} t^{p+1} dt + \frac{(p+1)!}{e} - \frac{[1 + (-1)^{p+1}]}{2}$$
 (6)

and

$$\left\lfloor \frac{(p+2)!}{e} \right\rfloor = \frac{1}{e} \int_{-1}^{0} e^{-t} t^{p+2} dt + \frac{(p+2)!}{e} - \frac{[1 + (-1)^{p+2}]}{2}.$$

The difference of the two latter equations reads

$$\left\lfloor \frac{(p+2)!}{e} \right\rfloor - \left\lfloor \frac{(p+1)!}{e} \right\rfloor = \frac{1}{e} \int_{-1}^{0} e^{-t} t^{p+1} (t-1) dt + (-1)^{p+1} + \frac{(p+2)!}{e} - \frac{(p+1)!}{e},$$

i.e., since

$$n! = \int_0^\infty e^{-t} t^n \, \mathrm{d}t,\tag{7}$$

one has

$$\left\lfloor \frac{(p+2)!}{e} \right\rfloor - \left\lfloor \frac{(p+1)!}{e} \right\rfloor = \frac{1}{e} \int_{-1}^{0} e^{-t} t^{p+1} (t-1) dt + (-1)^{p+1} + \frac{1}{e} \int_{0}^{\infty} e^{-t} t^{p+1} (t-1) dt.$$
(8)

Integrating by parts, one easily gets that the right-hand side of Equation (8) equals

$$\int_{-1}^{\infty} e^{-t} t^{p+1} \left(t - (p+2) \right) dt = (-1)^p e$$
 (9)

and thus, after multiplication by e and expressing $(-1)^{p+1}$ using Equation (9), we obtain

$$e\left(\left\lfloor \frac{(p+2)!}{e}\right\rfloor - \left\lfloor \frac{(p+1)!}{e}\right\rfloor\right) = \int_{-1}^{0} e^{-t} t^{p+1} (t-1) dt$$
$$-\int_{-1}^{\infty} e^{-t} t^{p+1} (t-(p+2)) dt$$
$$+\int_{0}^{\infty} e^{-t} t^{p+1} (t-1) dt$$
$$= (p+1) \int_{-1}^{\infty} e^{-t} t^{p+1} dt.$$

Finally, using the representation of Equation (4), Equation (8) becomes:

$$\left\lfloor \frac{(p+2)!}{e} \right\rfloor - \left\lfloor \frac{(p+1)!}{e} \right\rfloor = \frac{(p+1)}{e} \int_{-1}^{\infty} e^{-t} t^{p+1} dt = (p+1) \left\lfloor \frac{(p+1)!}{e} \right\rfloor,$$

which completes the proof.

3. Second Proof Using the Hermite Identity

As shown in Section 2, proving Theorem 1 amounts to proving Equation (3). The proof presented in this section is inductive (like the previous one), but relies on the Hermite identity.

Proof of Theorem 1. The Hermite identity [11] reads

$$\sum_{k=0}^{m-1} \left\lfloor x + \frac{k}{m} \right\rfloor = \lfloor mx \rfloor.$$

This can be easily shown by noticing that the function

$$f(x) = \lfloor x \rfloor + \left\lfloor x + \frac{1}{m} \right\rfloor + \ldots + \left\lfloor x + \frac{m-1}{m} \right\rfloor - \lfloor mx \rfloor$$

is 1/m-periodic. Indeed, since f(x) = 0 for all $x \in [0, 1/m[$, it follows that f(x) = 0 for all real x.

Let us set m = p + 2 and x = (p + 1)!/e. The Hermite identity becomes

$$\left\lfloor \frac{(p+2)!}{e} \right\rfloor = \left\lfloor \frac{(p+1)!}{e} \right\rfloor + \left\lfloor \frac{(p+1)!}{e} + \frac{1}{p+2} \right\rfloor + \left\lfloor \frac{(p+1)!}{e} + \frac{2}{p+2} \right\rfloor + \dots + \left\lfloor \frac{(p+1)!}{e} + \frac{p+1}{p+2} \right\rfloor.$$

For $t \in [0,1]$, one has $-e < e^{-t} < e$ and thus

$$-\frac{e}{p+2} < -e\frac{(-1)^p}{p+2} = -e\left[\frac{t^{p+2}}{p+2}\right]_0^{-1} = -e\int_0^{-1} t^{p+1} dt < \int_0^{-1} t^{p+1} e^{-t} dt,$$

as well as

$$\int_0^{-1} t^{p+1} e^{-t} dt < e \int_0^{-1} t^{p+1} dt = e \left[\frac{t^{p+2}}{p+2} \right]_0^{-1} = e \frac{(-1)^p}{p+2} < \frac{e}{p+2}$$

and

$$-\frac{e}{p+2} < \int_0^\infty t^{p+1} \, e^{-t} \, \mathrm{d}t - \int_{-1}^\infty t^{p+1} \, e^{-t} \, \mathrm{d}t < \frac{e}{p+2}.$$

Using Equations (4) and (7), one gets

$$-\frac{1}{p+2} < \frac{(p+1)!}{e} - \left\lfloor \frac{(p+1)!+1}{e} \right\rfloor < \frac{1}{p+2},$$

OI

$$-\frac{k}{p+2} < \frac{(p+1)!}{e} - \left\lfloor \frac{(p+1)!+1}{e} \right\rfloor < 1 - \frac{p+1}{p+2} \le 1 - \frac{k}{p+2}$$

for $0 \le k \le p$. This implies

$$\left\lfloor \frac{(p+1)!+1}{e} \right\rfloor - \frac{(p+1)!+1}{e} < \frac{k}{p+2} - \frac{1}{e} < \left\lfloor \frac{(p+1)!+1}{e} \right\rfloor + 1 - \frac{(p+1)!+1}{e}. \tag{10}$$

Let us now set y = [(p+1)! + 1]/e and $\alpha = k/(p+2) - 1/e$. Since Equation (10) means that $\lfloor y \rfloor - y < \alpha < \lfloor y \rfloor + 1 - y$, one has $\lfloor y + \alpha \rfloor = \lfloor y \rfloor$, i.e.,

$$\left\lfloor \frac{(p+1)!}{e} + \frac{k}{p+2} \right\rfloor = \left\lfloor \frac{(p+1)! + 1}{e} \right\rfloor$$

and

$$\sum_{k=0}^{p} \left\lfloor \frac{(p+1)!}{e} + \frac{k}{p+2} \right\rfloor = (p+1) \left\lfloor \frac{(p+1)!+1}{e} \right\rfloor.$$

This finally yields

$$\left\lfloor \frac{(p+2)!}{e} \right\rfloor = \left\lfloor \frac{(p+1)!}{e} \right\rfloor + (p+1) \left\lfloor \frac{(p+1)! + 1}{e} \right\rfloor,$$

which completes the proof.

4. Direct (Non-Inductive) Proof Using a Recurrence Relation

In this section we present a non-inductive proof of Theorem 1 (i.e., which is not based on a proof of the identity of Equation (3)). The proof involves a recurrence relation for the number of derangements.

Proof of Theorem 1. The derangements satisfy the well-known relation

$$D(n) = (n-1)(D(n-1) + D(n-2)). (11)$$

The relation (11) can be recast into

$$D(n) = nD(n-1) - (D(n-1) - (n-1)D(n-2)),$$

which gives

$$D(n) - nD(n-1) = -(D(n-1) - (n-1)D(n-2))$$

$$= \cdots$$

$$= (-1)^{n-2}(D(2) - 2D(1))$$

$$= (-1)^n,$$

the last equality stemming from the fact that D(2) - 2D(1) = 1, as seen in Section 2. We thus have

$$D(n) - D(n-1) = (n-1)D(n-1) + (-1)^n,$$

for which different proofs and combinatorial interpretations were provided. Thus, one has

$$\sum_{n=2}^{p+1} (D(n) - D(n-1)) = \sum_{n=2}^{p+1} (n-1)D(n-1) + \sum_{n=2}^{p+1} (-1)^n,$$

or

$$D(p+1) = \sum_{n=0}^{p} nD(n) + \frac{1 - (-1)^{p}}{2},$$

yielding

$$S_p = D(p+1) - \frac{1 - (-1)^p}{2},$$

or also

$$S_p = \left| \left| \frac{(p+1)!}{e} \right| \right| - \frac{1 - (-1)^p}{2}.$$

Using Equation (6), one gets

$$\frac{(p+1)!}{e} - \left\lfloor \frac{(p+1)!}{e} \right\rfloor = -\frac{1}{e} \int_{-1}^{0} e^{-t} t^{p+1} dt + \frac{[1+(-1)^{p+1}]}{2}.$$

Setting

$$f(p) = -\frac{1}{e} \int_{-1}^{0} e^{-t} t^{p+1} dt = \frac{(-1)^{p}}{e} \int_{0}^{1} e^{t} t^{p+1} dt,$$

one sees that, for p even, f(p) is a positive decreasing function of p and since f(0) = 1/e < 1/2, we obtain that f(p) < 1/2. On the other hand, when p is odd, then f(p) is a negative increasing function of p and since f(1) = (2-e)/e, it follows that f(1) + 1 = 2/e > 1/2 and f(p) > 1/2. Thus,

$$-\frac{1}{e} \int_{-1}^{0} e^{-t} t^{p+1} dt + \frac{[1 + (-1)^{p+1}]}{2} \begin{cases} < 1/2 & \text{if } p \text{ is even,} \\ > 1/2 & \text{if } p \text{ is odd,} \end{cases}$$

and then

$$\frac{(p+1)!}{e} \begin{cases} < \left\lfloor \frac{(p+1)!}{e} \right\rfloor + 1/2 & \text{if } p \text{ is even,} \\ > \left\lfloor \frac{(p+1)!}{e} \right\rfloor + 1/2 & \text{if } p \text{ is odd.} \end{cases}$$

This gives

$$\left| \left| \frac{(p+1)!}{e} \right| \right| = \begin{cases} \left\lfloor \frac{(p+1)!}{e} \right\rfloor & \text{if } p+1 \text{ is odd,} \\ \left\lfloor \frac{(p+1)!}{e} \right\rfloor + 1 & \text{if } p+1 \text{ is even,} \end{cases}$$

yielding finally

$$S_p = \left| \frac{(p+1)!}{e} \right|,$$

which completes the proof.

It is worth mentioning that in an article about permutation enumeration [13], Sedgewick proposed an improvement of Heap's algorithm for the generation of permutations by interchanges [10]. It turns out that the complexity of Sedgewick's efficient algorithm involves the quantity A_N defined by the induction relation

$$A_N = NA_{N-1} + \begin{cases} 0 & \text{if } N \text{ is even,} \\ N-1 & \text{if } N \text{ is odd,} \end{cases}$$

for N > 1 and $A_1 = 0$. One actually has

$$A_N = N! \sum_{k=2}^N \frac{(-1)^k}{k!} = \left\lfloor \frac{N!}{e} \right\rfloor,$$

and there is a strong connection between the sum S_p and the quantity A_N , which are related to each other by

$$S_p = A_{p+1}.$$

INTEGERS: 26 (2025)

8

5. Conclusion

We obtained a sum rule for derangements, proven by three different methods. The first two methods are inductive proofs; the first one uses integral representations of the integer part of (n!+1)/e and of the fractional part of n!/e (n being an integer), and the second one is based on the Hermite identity, expanding the integer part of nx (where x is a real number) as a sum of integer parts of x + k/n, with k ranging from 0 to n-1. The third proof proceeds directly from a recurrence relation for derangements. The identity presented in Theorem 1 may be useful for deriving sum rules for Laguerre polynomials [5].

References

- [1] T.M. Apostol, Mathematical Analysis, Addison-Wesley, Reading, MA, 1974.
- [2] A.T. Benjamin and J. Ornstein, A bijective proof of a derangement recurrence, Fibonacci Quart. 55 (2017), 28–29.
- [3] J. Désarménien, Une autre interprétation du nombre de dérangements, Sémin. Lothar. Comb. (1982), Article B08b.
- [4] S. Elizalde, A simple bijective proof of a familiar derangement recurrence, preprint, arXiv: 2005.11312.
- [5] S. Even and J. Gillis, Derangements and Laguerre polynomials, Math. Proc. Camb. Philos. Soc. 79 (1976), 135–143.
- [6] R.L. Graham, D.E. Knuth, and O. Patashnik, Concrete Mathematics, Addison-Wesley, Reading, MA, 1994.
- [7] M. Hassani, Derangements and applications, J. Integer Seq. 6 (2003), Article 03.1.2.
- [8] M. Hassani, Cycles in graphs and derangements, Math. Gaz. 88 (2004), 123–126.
- [9] M. Hassani, Derangements and alternating sum of permutations by integration, J. Integer Seq. 23 (2020), Article 20.7.8.
- [10] B.R. Heap, Permutations by interchanges, Comput. J. 6 (1963), 293–294.
- [11] Y. Matsuoka, Classroom notes: On a proof of Hermite's identity, Amer. Math. Monthly 71 (1964), 1115.
- [12] J.B. Remmel, A note on a recursion for the number of derangements, European J. Combin. 4 (1983), 371–374.
- [13] R. Sedgewick, Permutation generation methods, ACM Comput. Surv. 9 (1977), 137–164.
- [14] The On-Line Encyclopedia of Integer Sequences, available online at https://oeis.org.
- [15] R. Stanley, Enumerative Combinatorics, Volume 1, second edition, Cambridge University Press, 2012, Example 2.2.1.
- [16] L.A. Vinh, Two identities of derangements, preprint, arXiv: math/0510132.
- [17] H.S. Wilf, A bijection in the theory of derangements. Math. Mag. 57 (1984), 37–40.